
数学 I 授業プリント # 25（その 3） 年 組 号

氏名■ 一次不等式の特訓
1 次の一次不等式を解きなさい。

⑴ x+ 8 < 2 ⑵ 3x− 2 >= 10

⑶ −4x− 7 > 5 ⑷ 5x+ 2 <= 8x− 10

⑸ 4x+ 12 >= 4 ⑹ x+ 5 < 8

⑺ x+ 8 > 11 ⑻ 8x+ 3 > 3x+ 28

⑼ 3x+ 5 > 7x+ 1 ⑽ 2x− 10 > −2

⑾ 2x− 21 >= 9x ⑿ x+ 5 < −2

46x<347x<1048x>2

#25（その3）25x>
1

2
26x<−

3

2
27x>=

2

3
28x<−529x>=−330x<=231x>432x>=−233x>=134x>=−535x>1136x>437x>438x>=3639x<−240x<=141x<

4

3
42x>=243x>1044x<=−445x<=−5

⒀ 3x− 3 <= 2x+ 1 ⒁ −3− 2x < 1

⒂ x− 5 <= 4 ⒃ 7− x < 2x+ 5

⒄ 2x− 1 < 7x− 36 ⒅ −6 <= x− 2

⒆ 6x+ 8 <= 2x ⒇ 5x− 1 > 3 (x+ 3)

21 4x− 8 >= 6x+ 4 22 7 < 3x+ 4

23 4x− 11 <= −15 24 5− 2x <= 7



25 2x+ 8 < 4x+ 7 26 13x+ 1 < 9x− 5

27 6x+ 1 >= 5 28 5x− 8 > 6x− 3

29 x <= 3x+ 6 30 5(3x− 5) <= x+ 3

31 5x− 6 > 14 32 9x >= 6x− 6

33 12− x <= 4x+ 7 34 6x+ 30 >= 0

35 5x+ 42 > 97 36 x+ 3 < 3x− 5

21x<=−622x>123x<=−124x>=−1

#25（その3）1⑴x<−6⑵x>=4⑶x<−3⑷x>=4⑸x>=−2⑹x<3⑺x>3⑻x>5⑼x<1⑽x>4⑾x<=−3⑿x<−7⒀x<=4⒁x>−2⒂x<=9⒃x>
2

3
⒄x>7⒅x>=−4⒆x<=−2⒇x>5

37 6x− 2 > 4x+ 6 38 9 (x− 4) >= 8x

39 3x+ 2 < −4 (x+ 3) 40 3x+ 5 <= 2 (5− x)

41 3x+ 4 < 8 42 5x− 1 <= 8x− 7

43 x < 5 (x− 8) 44 3 (3x+ 2) <= 7x− 2

45 0.1x− 3 >= 0.8x+ 0.5 46 8x < 3x+ 15

47 x+ 6

4
>

x+ 2

3
48 10x+ 1 > 8x+ 5



49 7− 4x < 4− 5x 50 0.3x+ 1.7 > 2.1− 0.1x

51 5x+ 3 >= 9x− 10 52 3x− 10

4
<= 2x− 5

53 x

2
>=

1

2
− x

3
54 x+ 6 <=

3− x

2

55 −2x+ 1 < − (x− 1) 56 −4 <= −5x+ 8

57 3 (x+ 3) >= x− 1 58 0.3 (x− 3) > 0.2x− 0.5

59 0.75x− 1 <=
x− 4

2
+

5

4
x 60 5− 2x

4
− 1

2
<

2x− 3

3

93x>−1794x>895x<=296x>=
19

11

#25（その3）73x<=−274x<−
1

9
75x<576x>

7

3
77x<−978x<379x<380x<−481x<682x<−683x<=−684x<185x<=

7

8
86x>=−1487x<=

2

3
88x>=589x<1090x>=

10

3
91x<=−792x<−

5

2
61 5x− 2

3
>

3x+ 1

2
62 3 (2x− 4) >= 4x− 2

63 x− 3

2
< − x

5
64 8 + 7 (2x+ 1) <= 8x− 3

65 8 (x+ 2) >= 5 (x+ 8) 66 x− 9 <= 2 (x− 1)

67 3

8
x− 3

2
> x− 1

4
68 1

3
x− 2 < x

69 3 (x− 4) <= 4− x 70 2 (x− 1)

3
<

3 (x+ 2)

4

71 2x+ 14

3
>=

−x+ 14

2
72 0.3x+ 5 <= 0.7x+ 3.4



73 3x

4
− 5

2
>=

2 (2x+ 1)

3
− 2

74 0.1 (x+ 1) > x+ 0.2

75 7 (x− 4) < 2 (x+ 6)− 3x 76 8x− 2 (3x− 5) < 3 + 5x

77 x+ 10 <
x+ 14

5
78 3x+ 7

4
< 4

79 3x− 5 > 4 (2x− 5) 80 8− 4x

3
> 6− x

2

81 1

3
x− 2 < − 1

2
x+ 3

82 −5 + 4 (2x− 1) > 3 (4x+ 7)− 6

83 2 (x− 2)− 3x >= 2 84 3x+ (x− 2) < 2

70x>−2671x>=272x>=4

#25（その3）49x<−350x>151x<=
13

4
52x>=253x>=

3

5
54x<=−355x>056x<=

12

5
57x>=−558x>459x>=160x>

3

2
61x>762x>=563x<

15

7
64x<=−365x>=866x>=−767x<−268x>−369x<=4

85 0.3 (x+ 1) <= 1− 0.5x 86 −3 (6− x) <= 10 + 5x

87 1

3
x+

14

9
<=

x+ 10

6
88 0.23x+ 0.35 <= 0.3x

89 2 (7− 2x) < −7 (x− 6) + 2 90 0.4x+ 1.8 <= 0.8 + 0.7x

91 11 + 3 (2x− 7) <= 4 (x− 6) 92 2x

3
− 6x+ 9

4
> − 1

6

93 x+ 1

2
− 3− x

5
>

2 (x− 1)

3
94 1

6
x− 5

3
<

1

4
x− 7

3

95 2

3
(x− 1) +

1

2
(x+ 3) <=

19

6
96 4x− 1

5
<=

2x− 1

3
− 1− x

2


